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It was not until she arrived in class — realized she had
forgotten her book.
A. that she B. when she C. she D. and she

Sentence B @SIA (741 T TS FARYT TA- It was
not realized that she had forgotten her book until she arrived
inclass.

Mary did not do well in the class because —.

A. She studied bad

B. She was a badly student

C. She studied badly

D. She succeeded to study properly

Choice (A) is incorrect because the verb ‘studied’
should be modified by an adverb. Choice (B) uses badly which is
an adverb and can not modify the noun. Choice (C) is correct.
Choice (D) remain positive meaning.

The synonym of ""Sluggish" is —.

A. dull B. animated  C. slow D. boring
[AnsPNWhy] "Sluggish" *ts qrean 51 gra <=, 794 *ife, g,
TG &S TSI | QAT dull W = |
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Climatologists — that midway the next century temparatures
may have risen by as much as 4°.
A. think B. propose C. believe D. predict
® Think- fowr Far ® Propose- 213 41

® Believe- fTPT &al @ Predict- Sfaayeadt w4
owg ored ud T - ‘TEEgfvd St (Predict) FEE @
ST =TSR WRTNIRE G 04T ST 4° o€ 0SS AN |

. Reading books — an impressive habit.

A. are B.is C. have D. were
@4 reading *®G gerund @A sent €d sub. |
Gerund 19 794 Singular ¥ 4 &7 Verb @ Singular 24 |
The frown the man’s face showed that he was displeased
Here, "frown’ can be replaced by —.
A. look of fear B. look of delight
C. look of anger D. look of surprise
Frown-a1if¥ 7f8/look of anger/annoyance.
Mita Huq’s death is an — for the country.
A. irrepairable loss B. irrepairable loose
C. irreparable loss D. irrepairable lose
Loss-#®, Losse-S=1/6#1, Lose- ZAMTAT |
I did not have — luggage, just two small bags.
A little B. many
C. much D. few
luggage =™ @6 Uncountable Noun | it
*@1gT Uncountable deterrminer ST 2T |
(a). little-Negative uncountable det.;(b) many-Countable det.;(c)
much-uncountable det.:(d) few-Negetive uncountable det.
Without the right softwere, ’'m afraid you can’t — that
particular programme.
A. reach B. access C. obtain D. find

s I Computer Programme @ &IT3# 1 JHTS Access 07 |
The synonym of 'emancipate’ is —.
A. neglect
C. to set free form restraint or bondage
'emancipate'- I ¥4 |
(a) neglect-SEt== <4M;(b) bondage-wPTy; (c) to set free form
restraint or bondage- (FITAT 4T (AF TF =47 |
By Whom —?
A. the glass was broken B. did the glass break
C. was the glass broken D. was the glass break
Active Voice @ Who 9IF7& Passive Voice € By
whom ¥ | Active Voice_ Who broke the glass?

B. bondage
D. to bondage

We insist on — leaving the room.

A. your B. you

C. yours D. to you

A Preposition + Possessive adjective + Gerund <07 |
Unemployment is an impendiment —— our national
development.

A. at B. for C.of D. to

@®p7f f% Appropriate Preposition:

Obstacle to, Callous to, Aware of, Belong to, Acquit of, Loyal
to, Jealous of, Ignorant of, Attach to, Capable of, Clue to, Based
on, Capacity for, Addicted to, Long for, Insist on, Afraid of.

14.

15.

01.

02.

04.

0s.

06.

07.

08.

Are you confident — your performance.
A. by B. of
C.on D. none of this

g % Appropriate Preposition:

Devote to, Exempt from, Endowed with, confident of, Conscious
of, Sanguine of, Prefer to, Satisfied with, Vexed with, Taste for,
Rob of, Zest for, Sure of, Stare at.

The facillities of the new covid hospital —.

A. is as good or better then the old hospital.

B. are as good or better than the old hospital

C. are as good as or better than those of the old hospitals

D. are as good or better than those of the old hospital
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A 15g B.1.2¢ C.0.15¢ D.0.72 g [AnsEYWhy] 1 =@%w HCI 379%® 28 F@9 HCl 99 GFaze
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A.Zn*1Zn B.Zn/Zn*  C.Cu*/Cu  D.H'/H,pt
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postulates (=) 15 a statement that is a assumed to be
true without proof
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® Choose the best alternative A, B, C, D, or E to fill in the
blanks in each of the following sentence (1-11)
11. Humans are the only factors in the ecosystem - -— are
responsible for the changes in the ecology.
A which E. whom C. who D. what
11, If she -—— so quickly, you could understand her.
A spoke B. didn’t
C. speak D. haven't spoken
13, dose Jamal forget to listen to the news
A Rarely B. Scarce
C. Severally D. Even
14. The bird flew away in fright

A when it heard the movement in the hrushes
B. the movement among the bushes having been heard.

C. after it was hearing moving inside of the bushes.
D when he has heard that something moved in the bushes.
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15. The group has had —— ten captains in just five years.
A few B. no few then
C. no least then D. not fewer then
16. The word opposite in meaning to ‘energetic” is -—
A quick B. hostile
C. weak D. emotional endear
17. The Chinese put a lot of —— on the unity of the family
A emphatic B. emphasis
C. emphasize D. umification
18. The poor man said, “T - starve than beg™
A rather B. better
C. would rather D. nught
19. You had better —— or you will miss the bus.
A humed B. humy
C. norying D. hories
20. To ldck the bucket” means to .
A gquarrel B. die
C. neglect D. being
11, “Corpus” means .
A adead body
B. a collection of written texts
C. red or white cells in bloods
D. on of the tecnical branches of an army
11, Which part of the following sentence is incorrect?
Humming birds move % wings so rgpidﬁ way that ti;éﬁ__ appear
to be
13, Which one is correct?
A What do you prefer most
B. What do you prefer?
C. What do you prefer more?
D. What you prefer
14. In the sentence ‘Oil vour own machine®, “Oil* is a(n)
A Noun B. Adjective
C. Verb D. Preposition
15. What is the noun of ‘lose”
A loss B. losing
C. lost D. lozsen
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. What is the synonyvm of 'delude'?

A Demand  B. Pernut C. Aggravate D. Deceive

. A speech Iull of too many words is-

A Abig speech
C. A verbose speech

BE. A maiden speech
D. An umimportant speech

. A-fantasy is-
A An imaginary story B. A finmy film
C. A history record D. A real Life
. I count your help
A after B. upon C. for D. with
. A seventeen vear old is not to vote in an election.
A old enough E. as old enough
C. enough old D. encugh old as

. The word 'ecological’ is related to-

A Atmosphers
C. Hydrosphera

B. Environment
D. Polhthon
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Which spelling is correct?

A Secretamats B. Secretaniete

C. Seerctariat D. Secreteniate

Select the pair that best expresses the relationship similar to
that expressed in the following pairs: Fire @ Ashes.

A accident : delay B event : memory

C. water : waves D wood : splinters

Choose the appropriate preposition from the options given
below to fill up the blank.

Are you deing anvthing special — the weekend?

Am B. for C.on D. at

. Which of the following is correct sentence?

A Dr. Tutul is a FCPS.

B. Father insisted me fo go home.
C. He knows to leamn.

D. Whom do you call?

. Which of the following words best fills the blank left in the

following sentence?
The sertousness of drought conld only be understood by seeing
the —crops in the fickle.

A dead B. wilted

C. copious D. delayed

What is the verb form of the noun "origin'?

A Original B. Oniginate

C. Origination D Organize
. What is the antonym of "famous'?

A Bad B. Opaque

C. Hidden D. Obscure

. Which is the closest in meaning to *ftrs F1ier ot czere

A Cut your coat according to your cloth
B. Humger is the best sauce

C. To make a mountam out of the mole hill
D. To cat jack before they ripe.

. He ran away because he afraid.
A was B were
C. might have been D have been
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